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Chapter 20—Managing Leadership and Influence Processes
TRUE/FALSE

1.
Leaders and managers are the same thing.
ANS:
F
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

2.
A leader aligns people.
ANS:
T
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

3.
A manager develops a vision.
ANS:
F
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

4.
Leaders have power but managers do not.
ANS:
F
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

5.
Referent power is usually associated more with leadership than with management.
ANS:
T
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

6.
Expert power requires a college degree.
ANS:
F
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

7.
Inspirational appeal involves the use of referent power.
ANS:
T
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

8.
Legitimate request is based on reward power.
ANS:
F
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

9.
Researchers gave up trying to identify traits as predictors of leadership ability, but many voters have not.
ANS:
T
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

10.
Managers using job-centered leader behavior are interested in developing a cohesive work group and ensuring that employees are satisfied with their jobs in the Michigan studies.
ANS:
F
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Def

11.
When using consideration behavior, the leader clearly defines the leader-subordinate role so that everyone knows what is expected, establishes formal lines of communication, and determines how tasks will be performed in the Ohio studies.
ANS:
F
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

TYP:
Def

12.
The goal of a situational theory is to identify key situational factors and to specify how they interact to determine appropriate leader behavior.
ANS:
T
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

13.
Tennenbaum and Schmidt proposed a continuum of leadership behavior similar to the original Michigan framework.
ANS:
T
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

14.
The LPC theory of leadership suggests that the function of the leader is to make desired rewards available and to show people how to get them.
ANS:
F
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

15.
The path-goal theory assumes that leaders are unable to adapt their style of leadership to the situation.
ANS:
F
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

16.
A directive leader would be preferred by an employee with a high external locus of control.
ANS:
T
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

17.
The group makes the decision in all but one of the decision styles used in the Vroom-Yetton-Jago model.
ANS:
F
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

18.
Scott is the "teacher's pet." According to the leader-member exchange model, he gets special treatment because he is part of the in-group.
ANS:
T
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

19.
Organizational characteristics that may substitute for leadership include formalization, group cohesion, inflexibility, and a rigid reward structure.
ANS:
T
PTS:
1
OBJ:
20.4
NAT:
AACSB: R

TYP:
Comp

20.
Transformational leaders are likely to have a lot of self-confidence, a firm conviction in their beliefs and ideals, and a strong need to influence people.
ANS:
F
PTS:
1
OBJ:
20.4
NAT:
AACSB: R

TYP:
Comp

21.
To be effective as a charismatic leader, a manager needs to have a thorough and complete understanding of the organizationits history, its culture, its strengths, and its weaknesses.
ANS:
F
PTS:
1
OBJ:
20.5
NAT:
AACSB: D

TYP:
Comp

22.
Ethical leadership is a prerequisite for effective leadership.
ANS:
T
PTS:
1
OBJ:
20.5
NAT:
AACSB: E

TYP:
Comp

23.
When one person does things for another to build up bargaining power for future situations, the political behavior involved is known as inducement.
ANS:
F
PTS:
1
OBJ:
20.6
NAT:
AACSB: A

TYP:
Def

24.
Intentionally trying to enhance one's image in the eyes of others is called impression management.
ANS:
T
PTS:
1
OBJ:
20.6
NAT:
AACSB: A

TYP:
Def

25.
Stating inaccurate information on a resume is an example of unethical impression management.
ANS:
T
PTS:
1
OBJ:
20.6
NAT:
AACSB: E

TYP:
Comp
MULTIPLE CHOICE

1.
Leadership is

	a.
	a process.

	b.
	a property.

	c.
	using influence to shape behavior without using force.

	d.
	a set of characteristics found in people who are leaders.

	e.
	All of these choices.


ANS:
E
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

2.
Managers and leaders differ in

	a.
	how they create an agenda.

	b.
	how they achieve the agenda.

	c.
	how they execute plans.

	d.
	the type of outcomes they achieve.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

3.
Which of the following is an example of an individual who is leading?

	a.
	A person identifying detailed steps

	b.
	A person delegating authority

	c.
	A friend convincing you to go on a date

	d.
	A person planning detailed evaluations

	e.
	A person establishing time tables


ANS:
C
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

4.
Which of the following is NOT a type of power?

	a.
	Legitimate

	b.
	Empathic

	c.
	Coercive

	d.
	Referent

	e.
	Expert


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

5.
Mark Zuckerberg crated Facebook, which has more than 800 million users. Zuckerberg has

	a.
	synergy.

	b.
	empathy.

	c.
	valence.

	d.
	power.

	e.
	legitimacy.


ANS:
D
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

6.
Which of the following is a kind of power?

	a.
	LPC

	b.
	Legitimate

	c.
	Instrumental synergy

	d.
	Rational persuasion

	e.
	Instrumental compliance


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

7.
The form of power a person has because of the position he or she occupies in an organization is known as ____ power.

	a.
	Referent

	b.
	Reward

	c.
	Coercive

	d.
	Legitimate

	e.
	Expert


ANS:
D
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

8.
One of the reasons Steve Jobs was very successful at Apple was his charisma. He had ____.

	a.
	referent power

	b.
	reward power

	c.
	coercive power

	d.
	authority

	e.
	expert power


ANS:
A
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

9.
Facebook CEO Mark Zuckerberg struck a deal with Spotify CEO Daniel EK for online music service. As CEOs they have ____ power.

	a.
	coercive

	b.
	legitimate

	c.
	inspirational

	d.
	referent

	e.
	reward


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

10.
____ power is created and conveyed in the organization by granting authority.

	a.
	Expert

	b.
	Legitimate

	c.
	Referent

	d.
	Reward

	e.
	Coercive


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

11.
A news producer selects a reporter to cover a typical story. The producer has ____ power.

	a.
	referent

	b.
	reward

	c.
	coercive

	d.
	legitimate

	e.
	expert


ANS:
D
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

12.
The ability to control salary increases, promotions, praise, and interesting job assignments is known as

	a.
	referent power.

	b.
	reward power.

	c.
	rational persuasion.

	d.
	directive leadership.

	e.
	positive reinforcement.


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

13.
What type of power do leaders have if they are able to offer or withhold inducements?

	a.
	Reward

	b.
	Coercive

	c.
	Legitimate

	d.
	Expert

	e.
	Referent


ANS:
A
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

14.
A news producer selects a reporter to cover a breaking story that will get attention and possibly lead to career advancement. The producer has ____ power.

	a.
	reward

	b.
	coercive

	c.
	expert

	d.
	referent

	e.
	legitimate


ANS:
A
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

15.
Military leaders have no control over pay or bonuses. They rely on praise, public recognition, and evaluations for ____ power.

	a.
	reward

	b.
	coercive

	c.
	expert

	d.
	referent

	e.
	legitimate


ANS:
A
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

16.
Punishment and avoidance procedures involve the use of ____ power.

	a.
	legitimate

	b.
	reward

	c.
	coercive

	d.
	expert

	e.
	referent


ANS:
C
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

17.
A supervisor's use of coercion also involves the

	a.
	use of distortion.

	b.
	use of extinction.

	c.
	use of positive reinforcement.

	d.
	loss of leadership.

	e.
	loss of persuasion.


ANS:
D
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

18.
Workplace bullies use sarcasm, humiliation, and fear to influence others. This is a form of ____ power.

	a.
	expert

	b.
	legitimate

	c.
	referent

	d.
	reward

	e.
	coercive


ANS:
E
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

19.
Jason uses reprimands, fines, and demotion. These are forms of ____ power.

	a.
	expert

	b.
	legitimate

	c.
	referent

	d.
	reward

	e.
	coercive


ANS:
E
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

20.
Charismatic leadership is closely linked with

	a.
	legitimate power.

	b.
	instrumental compliance.

	c.
	legitimate requests.

	d.
	referent power.

	e.
	coercive power.


ANS:
D
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

21.
The power that generally sets leaders apart from nonleaders is ____ power.

	a.
	referent

	b.
	expert

	c.
	legitimate

	d.
	coercive

	e.
	reward


ANS:
A
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

22.
Shevonda has a great sense of humor. She does not use sarcasm. People love to listen to her tell great stories with dramatic expressions. She has ____ power.

	a.
	referent

	b.
	expert

	c.
	legitimate

	d.
	coercive

	e.
	reward


ANS:
A
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

23.
____ power is based on knowledge and expertise.

	a.
	Referent

	b.
	Expert

	c.
	Legitimate

	d.
	Coercive

	e.
	Reward


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

24.
Jon has a Ph.D. in organizational psychology. He works for Boeing as an executive coach. The executives have more experience and total power. Jon's primary power is

	a.
	referent.

	b.
	expert.

	c.
	legitimate.

	d.
	coercive.

	e.
	reward.


ANS:
B
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

25.
Augustus has a Ph.D. in chemistry. He was a college professor and is now director of research at his company. He has ____ power.

	a.
	legitimate

	b.
	technological

	c.
	expert

	d.
	referent

	e.
	coercive


ANS:
C
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

26.
Good administrative assistants have more access to important information and the decision maker than subordinates have. The administrative assistants have ____ power.

	a.
	legitimate

	b.
	technological

	c.
	expert

	d.
	referent

	e.
	coercive


ANS:
C
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

27.
Jesse has tremendous respect for Bonny. Jesse is Bonny's speech writer. Jesse worked all weekend to create a great speech for Bonny so that Bonny will be successful. Bonny has ____ power.

	a.
	coercive

	b.
	reward

	c.
	referent

	d.
	expert

	e.
	legitimate


ANS:
C
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

28.
Bill Lennox is a good man. He inspires loyalty and impeccable behavior because he demonstrates high moral standards with every decision. He has ____ power.

	a.
	coercive

	b.
	reward

	c.
	referent

	d.
	expert

	e.
	legitimate


ANS:
C
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
App

29.
The reinforcement theory of motivation is the basis for using

	a.
	information distortion.

	b.
	legitimate requests.

	c.
	inspirational appeals.

	d.
	personal identification.

	e.
	instrumental compliance.


ANS:
E
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

TYP:
Comp

30.
Tonya and Maureen work for an international company. Tonya convinced Maureen to go on a six month internship to China because it would be good for Maureen's career. Tonya used

	a.
	information distortion.

	b.
	legitimate requests.

	c.
	inspirational appeals.

	d.
	personal identification.

	e.
	rational persuasion.


ANS:
E
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

TYP:
Def

31.
Mika was promoted to manager based on her display of great self-confidence and her intelligence. The assumptions under which Mika received her promotion are based on the usefulness of ____ in predicting who will make a good leader.

	a.
	leadership behaviors

	b.
	leadership traits

	c.
	leadership style

	d.
	leadership challenges

	e.
	None of these choices


ANS:
B
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
App

32.
Which of the following represents how leadership was studied during the first several decades of the twentieth century?

	a.
	Vroom-Yetton-Jago model

	b.
	Leader behavior studies

	c.
	Path-goal theory

	d.
	Ohio State studies

	e.
	Trait studies


ANS:
E
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

TYP:
Fact

33.
What approach to identifying a leader is someone using if he votes for a politician based on his or her appearance, communication skills, and education?

	a.
	LPC

	b.
	Fiedler's contingency

	c.
	Vroom's decision tree

	d.
	Trait

	e.
	Path-goal


ANS:
D
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
App

34.
Which of the following BEST represents the outcome of the work done to determine what personal traits can be used to predict leader effectiveness?

	a.
	Researchers were unable to identify more than a small number of traits.

	b.
	The studies were quite successful, and we can now hire leaders based on results of tests that detect certain appropriate traits.

	c.
	A very long list of traits and the presence of alternative explanations for results made the studies of little value.

	d.
	The trait studies were much more successful than the studies of leader behaviors that preceded them.

	e.
	Research has proven that the identification of leadership traits is a better method for selecting a leader than either the Fiedler study or the path-goal theory.


ANS:
C
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

35.
Which of the following is a leader-behavior model?

	a.
	Michigan studies

	b.
	Path-goal theory

	c.
	Substitutes for leadership theory

	d.
	Vroom-Yetton-Jago model

	e.
	Fiedler's contingency model


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

36.
In the Marine Corps, subordinates want tough effective training that they know will someday save their lives. If you apply the Michigan studies in this case, the subordinates want

	a.
	a job-centered leader.

	b.
	initiating structure behavior.

	c.
	consideration behavior.

	d.
	an authority-compliance leader.

	e.
	an employee-centered leader.


ANS:
A
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
App

37.
Working Mother magazine ranked Abbott as one of the top ten companies for working families. CEO Miles White says "One of the most important things we can do for working families today is to help them lead healthier lives." According to the Michigan studies, White is using ____ behavior.

	a.
	job-centered leader

	b.
	initiating structure

	c.
	consideration

	d.
	authority-compliance leader

	e.
	employee-centered leader


ANS:
E
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
App

38.
The Michigan studies concluded that the best leader is

	a.
	job-centered.

	b.
	employee-centered.

	c.
	neither job- nor employee-centered.

	d.
	contingent on the situation.

	e.
	charismatic.


ANS:
B
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

39.
According to the Michigan studies, managers may be job-centered

	a.
	or employee-centered, but not both simultaneously.

	b.
	and employee-centered simultaneously.

	c.
	and have a high LPC score.

	d.
	if they also practice supportive leadership.

	e.
	if they adopt an autocratic decision style.


ANS:
A
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

40.
What is the major difference between the Ohio State studies and the Michigan studies of leadership?

	a.
	One is a situational approach; the other is a leader behavior approach.

	b.
	One proposes four different types of leader behaviors; the other has only two.

	c.
	One is based on the use of a decision tree; the other is not.

	d.
	One says that you can be high on both groups of leader behaviors simultaneously; the other says you cannot.

	e.
	One says that leaders can change their styles; the other says this cannot be done.


ANS:
D
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

41.
In the Marine Corps, subordinates want tough effective training that they know will someday save their lives. If you apply the Ohio studies, subordinates want

	a.
	a job-centered leader.

	b.
	initiating structure behavior.

	c.
	consideration behavior.

	d.
	an authority-compliance leader.

	e.
	an employee-centered leader.


ANS:
B
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

TYP:
Def

42.
Working Mother magazine ranked Abbott as one of the top ten companies for working families. CEO Miles White says "One of the most important things we can do for working families today is to help them lead healthier lives." According to the Ohio studies, White is using ____ behavior.

	a.
	job-centered leader

	b.
	initiating structure

	c.
	consideration

	d.
	authority-compliance leader

	e.
	employee-centered leader


ANS:
C
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
App

43.
In the Marine Corps, subordinates want tough effective training that they know will someday save their lives. Marines also want good food, time off, promotions and decent pay. Marines' desires for tough training and supportive leaders support the ____ model of leadership behavior.

	a.
	trait approach

	b.
	Ohio State studies

	c.
	Vroom-Yetton-Jago

	d.
	Fiedler

	e.
	Michigan studies


ANS:
B
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

44.
What term was used by researchers at Ohio State to describe the leadership behavior that is most similar to employee-centered behavior?

	a.
	Participative leadership

	b.
	Initiating-structure behavior

	c.
	Consideration behavior

	d.
	Participative behavior

	e.
	Country club leadership


ANS:
C
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

TYP:
Def

45.
The Managerial Grid

	a.
	is a method of evaluating management skills.

	b.
	labels the best manager as high in both concern for planning and concern for organizing.

	c.
	uses the term impoverished manager to describe a manager who is low in concern for people and low in concern for production.

	d.
	is a graphic representation of the trait approach to studying management.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

TYP:
Def

46.
The Leadership Grid

	a.
	is useful for describing leader behavior but not useful for predicting it.

	b.
	labels the best manager as high in both concern for planning and concern for organizing.

	c.
	uses the term impoverished manager to describe a manager who is low in concern for people and low in concern for production.

	d.
	is a graphic representation of the trait approach to studying leadership.

	e.
	All of these choices


ANS:
A
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

TYP:
Comp

47.
The leadership model that laid the foundation for much of the later work on situational approaches to leadership proposed

	a.
	a set of traits that would be situation specific.

	b.
	the use of a decision tree to determine the proper level of subordinate involvement.

	c.
	that leaders cannot change their styles, and we must, therefore, change the situation to create a match.

	d.
	that leaders have a group of favorites called an in-group.

	e.
	a continuum of leader behaviors, with each point on the continuum being influenced by various factors.


ANS:
E
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

TYP:
Def

48.
What is the basic assumption of situational approaches to leadership?

	a.
	Increasing worker job satisfaction through considerate leadership will get the best results.

	b.
	Initiating structure for employees so they know exactly what needs to be done will be most effective.

	c.
	The appropriate leader style will vary from one set of circumstances to another.

	d.
	Effective leaders can be identified by certain traits that are situationally specific.

	e.
	Some factors make leader behavior unnecessary.


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

49.
Which of the following leadership models is a combination of the trait and leader behavior approaches, with the addition of a situational element?

	a.
	Path-goal theory

	b.
	Vroom-Yetton-Jago model

	c.
	Fiedler's LPC model

	d.
	Substitutes for leadership

	e.
	Vertical-dyad linkage model


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

50.
Critics of the LPC model contend that

	a.
	it is not valid.

	b.
	it measures behavior.

	c.
	it measures personality.

	d.
	it measures traits.

	e.
	All of these choices


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

51.
What score does Fiedler use to determine leader style?

	a.
	Leader-member relations

	b.
	Task identity

	c.
	Task structure

	d.
	Least-preferred coworker

	e.
	Leader position coordinator


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

52.
The underlying assumption of situational models of leadership is that appropriate leader behavior varies from one situation to another. Which of the following is an example of one situation identified by Fiedler?

	a.
	Identity task

	b.
	Goal difficulty

	c.
	Goal specificity

	d.
	Task structure

	e.
	Organizational structure


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

53.
Lisa has been appointed leader of a project task force. She has strong leader-member relations. The task is structured. According to Fiedler's LPC theory, the favorableness of the situation is

	a.
	most favorable.

	b.
	moderately favorable.

	c.
	moderately unfavorable.

	d.
	most unfavorable.

	e.
	none of these choices.


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

54.
Daniel has been appointed leader of a project task force. He has legitimate power in this position. The task is unstructured. Also, Daniel has weak leader-member relations. According to Fiedler's LPC theory, what type of leadership style is appropriate in this situation?

	a.
	Relationship-oriented

	b.
	Task-oriented

	c.
	Participative

	d.
	Transformational leadership

	e.
	None of these choices


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

55.
According to Fiedler's research, what is the most effective form of leader behavior when situational favorableness is either most favorable or least favorable?

	a.
	Task-oriented

	b.
	Relationship-oriented

	c.
	Participative

	d.
	Achievement-oriented

	e.
	Employee-centered


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

56.
Working Mother magazine ranked Discovery Communications as one of the top ten companies for working families. CEO David Zaslav says "Addressing the needs of working families...means placing priority on flexibility to enable a healthy work/life balance, access to high quality health care and wellness programs." Fiedler would describe this leadership situation as having

	a.
	a weak power position.

	b.
	a high degree of task structure.

	c.
	a low degree of task specificity.

	d.
	a high degree of task accommodation.

	e.
	good leader-member relations.


ANS:
E
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

57.
Working Mother magazine ranked Bon Secours Richmond Health System as one of the top ten companies for working families. CEO Peter Bernard says "We expect our managers to support flexible schedules, promote education, push job development and encourage a healthy work/life balance." According to Fiedler's research, what is the most effective form of leader behavior for Bernard to adopt?

	a.
	Task-oriented

	b.
	Relationship-oriented

	c.
	Participative

	d.
	Achievement-oriented

	e.
	Employee-centered


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

58.
When there is a mismatch between leader style and the type of situation in which leaders find themselves, what does Fiedler suggest should be done?

	a.
	Change the leader's style

	b.
	Change the situation

	c.
	Change either leader style or the situation

	d.
	Change the valence of rewards

	e.
	Change subordinate expectancies


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

59.
According to Fiedler

	a.
	leadership style is flexible.

	b.
	leadership style depends on the situation.

	c.
	leadership style is fixed.

	d.
	leadership style changes the situation.

	e.
	None of these choices


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

60.
According to Fiedler's research on his contingency theory of leadership, relationship-oriented leaders get the best results when

	a.
	they have low LPC scores.

	b.
	situational favorableness is moderate.

	c.
	they do their best to be 9, 9 managers.

	d.
	position power is weak.

	e.
	the task is well structured.


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

61.
Which of the following is NOT one of the criticisms of Fiedler's contingency model of leadership?

	a.
	The LPC measure lacks validity.

	b.
	Its assumptions about the flexibility of leader behavior are unrealistic.

	c.
	It is unrealistic to combine the behavior and trait approaches in one theory.

	d.
	Fiedler's data are subject to other interpretations.

	e.
	Fiedler's results are not always supported by research.


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

62.
Vernique consults with her subordinates and encourages their involvement in the decision-making process. Based on the path-goal theory, what kind of leader behavior is Vernique exhibiting.

	a.
	Supportive

	b.
	Directive

	c.
	Participative

	d.
	Achievement-oriented

	e.
	Bureaucratic


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
App

63.
Which of the following leadership theories is a direct extension of the expectancy theory of motivation?

	a.
	Vroom-Yetton-Jago

	b.
	Fiedler's contingency

	c.
	Vertical-dyad linkage

	d.
	Path-goal

	e.
	Substitutes for leadership


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

64.
Pete tells his staff what to do, but not how to do it. When they come to him for help, he assists them and treats them as equals. Based on the path-goal theory, what kind of leader behavior is Pete exhibiting?

	a.
	Supportive

	b.
	Directive

	c.
	Participative

	d.
	Achievement-oriented

	e.
	Bureaucratic


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

65.
Mihee set challenging goals and high expectations because she has confidence in her fellow nurses. Based on the path-goal theory, what kind of leader behavior is Mihee exhibiting?

	a.
	Supportive

	b.
	Directive

	c.
	Participative

	d.
	Achievement-oriented

	e.
	Bureaucratic


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

66.
According to path-goal theory, a leader cannot change the personality of a subordinate, so the primary function of the leader is to

	a.
	determine how much to let subordinates participate in the decision-making process.

	b.
	create a match between leader style and situational favorableness.

	c.
	make organizational rewards available and show employees what behavior will be effective in getting those rewards.

	d.
	evaluate the personal characteristics of the employees and select a group that will work well together.

	e.
	identify people for leader development.


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

67.
You supervise a group of very competent employees who have been at their present jobs an average of seven years. Which two theories would say that you have little need to use a directive style of leadership and that subordinates may even resent it if you do?

	a.
	Substitutes for leadership and Fiedler's contingency

	b.
	Path-goal and vertical-dyad linkage

	c.
	Vroom-Yetton-Jago and vertical-dyad linkage

	d.
	Path-goal and substitutes for leadership

	e.
	Substitutes for leadership and Vroom-Yetton-Jago


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

68.
Which of the following is NOT one of the situational factors thought to modify the relationship between leader behavior and subordinate motivation to perform in the path-goal theory?

	a.
	Preferences of the leader

	b.
	Subordinate locus of control

	c.
	Characteristics of the work group

	d.
	Task structure

	e.
	Subordinates' perceptions of their ability


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

69.
What leadership style would a person with an external locus of control be most likely to DISLIKE?

	a.
	Directive

	b.
	Supportive

	c.
	Participative

	d.
	Achievement-oriented

	e.
	Relationship-oriented


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

70.
Matt is fresh out of college. He is feeling a bit overwhelmed at work and appreciates his boss's ____ leadership because he needs help at this point.

	a.
	directive

	b.
	supportive

	c.
	participative

	d.
	achievement-oriented

	e.
	relationship-oriented


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

71.
Chrissy is a communications director. She has great talents and skills. Her boss annoys her because he uses ____ leadership. He is always telling her how to do things.

	a.
	directive

	b.
	supportive

	c.
	participative

	d.
	achievement-oriented

	e.
	relationship-oriented


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

72.
Which of the following is a situational leadership model?

	a.
	Trait approach

	b.
	Michigan studies

	c.
	Ohio State studies

	d.
	Leadership Grid

	e.
	Path-goal theory


ANS:
E
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

73.
____ is a path-goal situational factor that describes the personal belief that whatever happens to the individual is a matter of luck or fate.

	a.
	Task structure

	b.
	Internal locus of control

	c.
	External locus of control

	d.
	Position power

	e.
	Perception of ability


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

74.
Adam is a human resource specialist who firmly believes that whatever happens to him is the result of hard work and determination. Which path-goal personal characteristic best describes Adam's attitude toward himself?

	a.
	Task structure

	b.
	Internal locus of control

	c.
	External locus of control

	d.
	Position power

	e.
	Perception of ability


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

75.
Arpi is a manager. She set high standards and expects her workers to reach them. She uses ____ leadership.

	a.
	directive

	b.
	supportive

	c.
	participative

	d.
	achievement-oriented

	e.
	relationship-oriented


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

76.
Two general categories of situational factors that receive special attention in path-goal theory are the

	a.
	personal characteristics of the leader and the stability of the work environment.

	b.
	personal characteristics of subordinates and the environmental characteristics of the workplace.

	c.
	personal characteristics of the leader and those of the subordinates.

	d.
	stability of the work environment and the type of work being done.

	e.
	type of work being done and the personal characteristics of the leader.


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

77.
Which of the following statements BEST describes the path-goal theory of leadership?

	a.
	It suggests that leader style cannot be changed, and thus we must change the situation when there is a mismatch.

	b.
	It prescribes the relationship-oriented style as the most effective.

	c.
	It suggests that leaders can use any one of four styles of leadership as required.

	d.
	It calls for varying degrees of subordinate participation.

	e.
	It describes the characteristics of effective leaders.


ANS:
C
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

78.
The purpose of the Vroom-Yetton-Jago model is to

	a.
	determine the level of situational favorableness.

	b.
	determine the appropriate degree of employee participation in decision making.

	c.
	shape the environment by providing rewards and structuring tasks.

	d.
	select alternatives by means of refining expert opinion.

	e.
	make decisions quickly.


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

79.
According to the Vroom-Yetton-Jago model, leaders first assess

	a.
	subordinate competence.

	b.
	time sensitivity.

	c.
	subordinate personality.

	d.
	subordinate development.

	e.
	leadership style.


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

80.
What is being optimized when a leader uses the Vroom-Yetton-Jago model to select the appropriate degree of participation?

	a.
	The quality of the decision

	b.
	The acceptance of the decision

	c.
	The demands on the manager's time

	d.
	The development of subordinate decision making

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
Comp

81.
Which of the following is NOT an example of a decision-making style that is recognized by the Vroom-Yetton-Jago model?

	a.
	Participate

	b.
	Facilitate

	c.
	Delegate

	d.
	Consult group

	e.
	Decide


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

82.
Raakel needed to cut her department's budget by 10%. She called together directors and presented the statistical evidence. She then asked for their suggestions. Raakel used which decision-making style?

	a.
	Consult individually

	b.
	Facilitate

	c.
	Delegate

	d.
	Consult group

	e.
	Decide


ANS:
D
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

83.
Raakel needed to cut her department's budget by 10%. She contacted each one of her directors to present her statistical evidence and get each one's input. Raakel used which decision-making style?

	a.
	Consult individually

	b.
	Facilitate

	c.
	Delegate

	d.
	Participate

	e.
	Decide


ANS:
A
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

84.
When Marsha purchased an old Victorian, fixer-upper house, people thought she was crazy, but she had a vision for a bed-and-breakfast inn. She had to convince investors that a B&B was needed. According to the Vroom-Yetton-Jago model, Marsha used which decision-making style?

	a.
	Consult individual

	b.
	Facilitate

	c.
	Delegate

	d.
	Participate

	e.
	Decide


ANS:
E
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

85.
Which of the following leadership models suggests that leaders have different working relationships with the better performers among their subordinates than they do with the others?

	a.
	Path-goal

	b.
	Leader-member exchange

	c.
	Vroom-Yetton-Jago

	d.
	Substitutes for leadership

	e.
	Life cycle theory


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

TYP:
Def

86.
Franz knows Monisha is his best worker. When he needs someone to "get it into the end zone," the project goes to her. This is an example of a ____ approach to leadership.

	a.
	path-goal

	b.
	leader-member exchange

	c.
	Vroom-Yetton-Jago

	d.
	substitutes for leadership

	e.
	life cycle theory


ANS:
B
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

TYP:
App

87.
The presence of highly capable employees and an indifference toward rewards will

	a.
	increase subordinate maturity.

	b.
	make it necessary for a leader to be more supportive.

	c.
	require the leader to be more directive.

	d.
	neutralize leader behavior.

	e.
	have little impact on required leadership.


ANS:
D
PTS:
1
OBJ:
20.4
NAT:
AACSB: R

TYP:
Comp

88.
Subordinate characteristics that may neutralize leadership include all of the following EXCEPT

	a.
	competence.

	b.
	external locus of control.

	c.
	experience.

	d.
	need for independence.

	e.
	professional orientation.


ANS:
B
PTS:
1
OBJ:
20.4
NAT:
AACSB: A

TYP:
Def

89.
Which of the following is a factor that may neutralize or substitute for leadership?

	a.
	Routineness

	b.
	Availability of feedback

	c.
	Intrinsic satisfaction

	d.
	Formalization

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
20.4
NAT:
AACSB: A

TYP:
Def

90.
____ leadership is a contemporary perspective that focuses on a leader's personality and ability to inspire loyalty and enthusiasm.

	a.
	Charismatic

	b.
	Entrepreneurial

	c.
	Symbolic

	d.
	Integrative

	e.
	Participative


ANS:
A
PTS:
1
OBJ:
20.5
NAT:
AACSB: A

TYP:
Def

91.
The concept of charismatic leadership is most closely related to

	a.
	Vroom-Yetton-Jago model.

	b.
	the trait approach.

	c.
	Fiedler's contingency theory.

	d.
	substitutes for leadership.

	e.
	path-goal theory.


ANS:
B
PTS:
1
OBJ:
20.5
NAT:
AACSB: R

TYP:
Comp

92.
Politicians display a lot of self-confidence, a conviction in their beliefs, and a strong need to influence people. Robert House's theory says they are ____ leaders.

	a.
	charismatic

	b.
	figurehead

	c.
	symbolic

	d.
	integrative

	e.
	participative


ANS:
A
PTS:
1
OBJ:
20.5
NAT:
AACSB: R

TYP:
App

93.
When Pamela Forbes Lieberman took over TruServ, it was on the verge of bankruptcy, with spiraling debt, a top-heavy hierarchy, and outdated management. Now debt and inventory are down, as is payroll expense, and TruServ met SEC filing requirements. Which of the following BEST describes Forbes Lieberman in this role?

	a.
	Directive leader

	b.
	Participative leader

	c.
	Transformational leader

	d.
	Supportive leader

	e.
	Task-oriented leader


ANS:
C
PTS:
1
OBJ:
20.5
NAT:
AACSB: R

TYP:
App

94.
A popular press article identified seven keys to what seems to be transformational leadership. Which of the following is NOT among those?

	a.
	Keeping cool

	b.
	Being an expert

	c.
	Inviting dissent

	d.
	Encouraging risk

	e.
	Encouraging complexity


ANS:
E
PTS:
1
OBJ:
20.4
NAT:
AACSB: R

TYP:
Comp

95.
Which of the following is a key element of transformational leadership?

	a.
	Stimulating learning experiences

	b.
	Rigid formalization

	c.
	A wide span of management

	d.
	The ability to react to the need for change in the environment

	e.
	Group flexibility


ANS:
A
PTS:
1
OBJ:
20.5
NAT:
AACSB: R

TYP:
Comp

96.
Strategic leaders

	a.
	understand the organization.

	b.
	understand the organization's environment.

	c.
	recognize the organization's current alignment with the environment.

	d.
	work to improve the organization's current alignment with the environment.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
20.5
NAT:
AACSB: A

TYP:
Def

97.
When people use power and other resources to obtain what they want in an organization, they are said to be engaged in

	a.
	motivation.

	b.
	leadership.

	c.
	directing.

	d.
	political behavior.

	e.
	manipulation.


ANS:
D
PTS:
1
OBJ:
20.6
NAT:
AACSB: A

TYP:
Def

98.
Which of the following forms of political behavior is MOST likely to involve giving something to someone in exchange for that person's support?

	a.
	Persuasion

	b.
	Inducement

	c.
	Creation of an obligation

	d.
	Coercion

	e.
	Campaigning


ANS:
B
PTS:
1
OBJ:
20.6
NAT:
AACSB: A

TYP:
Def

99.
Which of the following is NOT a form of political behavior identified in the text?

	a.
	Information distortion

	b.
	Inducement

	c.
	Creation of an obligation

	d.
	Persuasion

	e.
	Coercion


ANS:
A
PTS:
1
OBJ:
20.6
NAT:
AACSB: A

TYP:
Def

100.
Which of the following is the form of political behavior in which people try to enhance their image in the eyes of others?

	a.
	Impression management

	b.
	Inducement

	c.
	Creation of an obligation

	d.
	Persuasion

	e.
	Coercion


ANS:
A
PTS:
1
OBJ:
20.6
NAT:
AACSB: R

TYP:
Comp

101.
Donald Trump is considered an "average" manager, but many view him as larger than life. Trump engages in a lot of

	a.
	creation of obligation.

	b.
	inducement.

	c.
	impression management.

	d.
	public relations.

	e.
	image promotion.


ANS:
C
PTS:
1
OBJ:
20.6
NAT:
AACSB: R

TYP:
App

102.
After the federal government stepped in to financially help auto makers, the CEOs flew by private jet to D.C. to testify before Congress. The politicians expressed outrage. The CEOs failed

	a.
	creation of obligation.

	b.
	inducement.

	c.
	impression management.

	d.
	public relations.

	e.
	image promotion.


ANS:
C
PTS:
1
OBJ:
20.6
NAT:
AACSB: R

TYP:
App

103.
How can managers handle political behavior so that it does not do excessive damage?

	a.
	Managers should avoid covert actions.

	b.
	Managers should provide employees with autonomy, responsibility, challenge, and feedback.

	c.
	Managers should be aware that even if their plans are not politically motivated, others might perceive them that way.

	d.
	Managers should get disagreements out in the open so that subordinates will have less opportunity for political behavior.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
20.6
NAT:
AACSB: R

TYP:
Comp
COMPLETION

1.
Leadership is the use of ____________________ influence to shape the group or organization's goals, motivate behavior toward the achievement of those goals, and help define group or organizational culture.
ANS:
noncoercive
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

2.
Establishing detailed steps and timetables for achieving needed results is part of ____________________.
ANS:
management
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

3.
The form of power related to positive reinforcement and extinction is ____________________ power.
ANS:
reward
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

4.
Psychological and emotional threats are examples of ____________________ power.
ANS:
coercive
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

5.
____________________ power is based on knowledge and expertise.
ANS:
Expert
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

6.
The type of power that is based on charisma is called ____________________ power.
ANS:
referent
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

7.
A manager who withholds information is using ____________________.
ANS:
information distortion
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

8.
A plea for loyalty represents a(n) ____________________ appeal.
ANS:
inspirational
PTS:
1
OBJ:
20.1
NAT:
AACSB: A

9.
The first organized approach to studying ____________________ analyzed the personality, psychological, and physical traits of strong leaders.
ANS:
leadership
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

10.
Honesty, integrity, and ____________________ seem to play meaningful roles in leadership.
ANS:
intelligence
PTS:
1
OBJ:
20.2
NAT:
AACSB: E

11.
The Ohio State studies identified two critical leadership behaviors: initiating structure behavior and ____________________ behavior.
ANS:
consideration
PTS:
1
OBJ:
20.2
NAT:
AACSB: A

12.
The ____________________ identifies seven levels of leadership, which range between the extremes of boss-centered and subordinate-centered leadership.
ANS:
leadership continuum
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

13.
Fiedler's ____________________ model assumed that an individual's leadership style was fixed.
ANS:
LPC
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

14.
Leader-member relations refer to the nature of the relationship between the leader and the ____________________.
ANS:
work group
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

15.
If the leader must get job assignments approved by someone else and does not administer rewards and punishment, ____________________ is weak.
ANS:
position power
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

16.
The path-goal theory is the leadership theory that is very closely aligned with the ____________________ theory of motivation.
ANS:
expectancy
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

17.
The two personal characteristics of subordinates that the path-goal theory identifies as situational factors are subordinates' perception of their own abilities and their ____________________.
ANS:
locus of control
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

18.
According to the path-goal theory, employees who see themselves as highly competent in ability may prefer ____________________ leadership.
ANS:
participative
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

19.
In deciding which Vroom-Yetton-Jago decision tree to use, leaders first consider time and ____________________ of the decision.
ANS:
significance
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

20.
According to the Vroom-Yetton-Jago model, the manager using the ____________________ style of decision making allows the group to define for itself the exact nature and parameter of the problem and then to develop a solution.
ANS:
facilitation
PTS:
1
OBJ:
20.3
NAT:
AACSB: A

21.
When people have high levels of ability and don't need to be led, there is a(n) ____________________ for leadership.
ANS:
substitute
PTS:
1
OBJ:
20.4
NAT:
AACSB: A

22.
Leadership that is focused on stimulating learning and inspiring new ways of thinking is called ____________________ leadership.
ANS:
transformational
PTS:
1
OBJ:
20.4
NAT:
AACSB: A

23.
Aligning the organization with its environment requires ____________________ leadership.
ANS:
strategic
PTS:
1
OBJ:
20.5
NAT:
AACSB: A

24.
As more females, African Americans, and Latinos achieve leadership positions, it may be necessary to reassess how applicable current theories of leadership are when applied to an increasingly diverse pool of ____________________ and subordinates.
ANS:
leaders
PTS:
1
OBJ:
20.5
NAT:
AACSB: D

25.
The direct and intentional effort by someone to enhance his or her own image in the eyes of others is called ____________________ management.
ANS:
impression
PTS:
1
OBJ:
20.6
NAT:
AACSB: A
MATCHING
Match the following. You may use a response once, more than once, or not at all.

	a.
	Manager

	b.
	Leader

	c.
	Both manager and leader



1.
Inspiring a team to do their best

2.
Focusing employees on pricing and inventory management

3.
Finding sources of funding for growth

4.
A vision to see a need

5.
Ordering an across-the-line price cut

6.
Developing strategies for international expansion

7.
Actions speak louder than words

8.
Executive named champion of diversity

1.
ANS:
B
PTS:
1

2.
ANS:
A
PTS:
1

3.
ANS:
A
PTS:
1

4.
ANS:
B
PTS:
1

5.
ANS:
A
PTS:
1

6.
ANS:
B
PTS:
1

7.
ANS:
C
PTS:
1

8.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Leader behavior model

	b.
	Situational model

	c.
	Trait model



9.
Michigan studies

10.
Vroom decision tree

11.
Path-goal theory

12.
Leadership Grid

13.
Leader-member exchange model

14.
Tennenbaum and Schmidt's leadership continuum

15.
Charismatic leadership

16.
LPC theory

9.
ANS:
A
PTS:
1

10.
ANS:
B
PTS:
1

11.
ANS:
B
PTS:
1

12.
ANS:
A
PTS:
1

13.
ANS:
B
PTS:
1

14.
ANS:
B
PTS:
1

15.
ANS:
C
PTS:
1

16.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Fiedler's contingency model

	b.
	Michigan studies

	c.
	Path-goal theory

	d.
	Substitutes for leadership

	e.
	Vertical-dyad linkage

	f.
	Vroom-Yetton-Jago



17.
States that leaders cannot change leadership style

18.
States that decision effectiveness is a function of decision quality and subordinate acceptance of the decision

19.
Identifies four different styles of leadership

20.
States that some characteristics of subordinates and the environment make it unnecessary for the leader to lead

21.
States that leaders have different working relationships with different groups of subordinates

17.
ANS:
A
PTS:
1

18.
ANS:
F
PTS:
1

19.
ANS:
C
PTS:
1

20.
ANS:
D
PTS:
1

21.
ANS:
E
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Reward power

	b.
	Referent power

	c.
	Legitimate power

	d.
	Expert power

	e.
	Coercive power

	f.
	Leadership power



22.
Force compliance

23.
Can withhold promotion, praise, recognition

24.
Defined by the organization

25.
Loyalty

26.
Access to information

22.
ANS:
E
PTS:
1

23.
ANS:
A
PTS:
1

24.
ANS:
C
PTS:
1

25.
ANS:
B
PTS:
1

26.
ANS:
D
PTS:
1
Special Exercises

The following matching questions have to do with the leadership styles of five CEOs of Intel, the largest maker of semiconductor chips in the world. Intel has a history of affective leadership. Bob Noyce began Intel in 1969. He was a brilliant inventor and a technological genius. As a leader he was a "nice guy" who put technical proficiency over profits. He inspired loyalty and often said "Do something great" to his employees. Then came Gordon Moore of Moore's law fame. His leadership was even more hands off. He let others make decisions while mentoring them. He mentored Andy Grove into the CEO office. Grove was competitive, blunt, arrogant, and decisive. He was a leader of action and production. After Grove came Craig Barrett. Barrett implemented a big shift toward greater emphasis on the customers. He was quiet, more disciplined, and more approachable than Grove. After Barrett came Paul Otellini. His background was in finance. He developed chips with different price points, creating the Pentium and Celeron brands. He continued the customer-focus and is less egotistical than Barrett. Otellini directed the company into new technologies.

Match the following trait with the CEO who best exemplifies it. You may use a response once, more than once, or not at all.

	a.
	Noyce

	b.
	Moore

	c.
	Grove

	d.
	Barrett

	e.
	Otellini

	f.
	All five CEOs

	g.
	None of the CEOs

	h.
	Noyce and Moore

	i.
	Grove and Barrett



27.
Legitimate power

28.
Strategic leadership

29.
Transformational leadership

30.
Charismatic leadership

31.
Concern for production

32.
Concern for people

33.
Directive leader behavior

34.
Supportive leader behavior

35.
Participative leader behavior

36.
Achievement-oriented leader behavior

27.
ANS:
F
PTS:
1
TOP:
Special Exercises


28.
ANS:
F
PTS:
1
TOP:
Special Exercises


29.
ANS:
D
PTS:
1
TOP:
Special Exercises


30.
ANS:
A
PTS:
1
TOP:
Special Exercises


31.
ANS:
C
PTS:
1
TOP:
Special Exercises


32.
ANS:
H
PTS:
1
TOP:
Special Exercises


33.
ANS:
E
PTS:
1
TOP:
Special Exercises


34.
ANS:
A
PTS:
1
TOP:
Special Exercises


35.
ANS:
B
PTS:
1
TOP:
Special Exercises


36.
ANS:
C
PTS:
1
TOP:
Special Exercises

ESSAY

1.
Do you want others to consider you a manager or leader? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

2.
Briefly describe the five kinds of power available to leaders and/or managers.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

3.
Describe an example of using a legitimate request, instrumental compliance, coercion, rational persuasion, personal identification, inspirational appeal, and informational distortion.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.1
NAT:
AACSB: R

4.
Briefly describe the University of Michigan and Ohio State University studies.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

5.
Given that you know from this course that trait research suggests leaders exhibit traits after getting positions, if you were voting in a primary election and the candidates were essentially the same on the issues, what abilities would you look for in your leader? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
20.2
NAT:
AACSB: R

6.
Describe the Fiedler contingency approach to leadership, including the major feature that distinguishes it from the rest of the situational approaches to leadership.
ANS:


Students should note that the major difference is that Fiedler says leaders cannot change leader style; it is the situation that must be changed to improve performance.
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

7.
Briefly describe the path-goal theory of leadership. Use diagrams if they will clarify your answer.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

8.
Briefly describe the Leader-Member Exchange approach.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.3
NAT:
AACSB: R

9.
Phil W. supervises a group of very competent workers. These people are involved in a routine task, and the company has written standard operating procedures to cover most of the operation. Phil is trying to decide what leadership style would be most effective in dealing with these people. Explain what the path-goal and leadership substitutes for approaches would recommend that he do.
ANS:


Students should recognize that the two approaches are very similar.

	a.
	The path-goal theory says that a directive form of leader behavior would be inappropriate because workers know how to do their jobs and would resent Phil giving them much guidance and close supervision. He should use participative, supportive, or achievement-oriented leadership, depending on the other characteristics of the employees.

	b.
	The substitutes for leadership approach advises the same thing as path-goal theory. Phil should exhibit some form of supportive behavior toward employees. Directive behavior is totally unnecessary because all of the factors listed in the problem substitute for directive behavior.


PTS:
1
OBJ:
20.3 | 20.4
NAT:
AACSB: R

10.
Briefly describe how the path-goal theory of leadership and the expectancy theory of motivation are related.
ANS:


Students should recognize that the path-goal theory comes from the expectancy model. Specifically:

	a.
	The expectancy theory says that people make judgments about whether they can do the job and what will happen in terms of rewards if they do the job.

	b.
	Those people also evaluate rewards in terms of the reward's value to them.

	c.
	Their motivation depends on high expectancies regarding both the job and the rewards, as well as highly valued rewards.

	d.
	The path-goal theory says that it is the leader's job to show people the behaviors that will lead to successful job accomplishment (make their effort-to-performance expectancy high) and show them that rewards will follow performance (performance-to-reward expectancy).

	e.
	The leader also must make valued rewards available to employees.


PTS:
1
OBJ:
20.3
NAT:
AACSB: R

11.
Do you think President Barack Obama is a charismatic leader? Why? Why not?
ANS:


Answer not provided.
PTS:
1
OBJ:
20.4
NAT:
AACSB: R

12.
Explain how transformational leadership differs from the other types of leadership discussed in the text.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.4
NAT:
AACSB: R

13.
What is the significance of strategic, cross-cultural, and ethical leadership in contemporary business?
ANS:


Answer not provided.
PTS:
1
OBJ:
20.5
NAT:
AACSB: D | AACSB: E

14.
Since it is impossible to eliminate political behavior in organizations, we must mange it as best we can. Describe four methods for managing political behavior.
ANS:


Answer not provided.
PTS:
1
OBJ:
20.6
NAT:
AACSB: E

15.
If you wanted to improve your leadership abilities, would it be more helpful to take a college leadership course or play a team sport for a year? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
20.6
NAT:
AACSB: R
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